Penalties for Employers Not Offering Affordable Coverage
Under the Affordable Care Act Beginning in 2014
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If the employer has 25 or
fewer employees and
average wage up to
$50,000, it may be
eligible for a health
insurance tax credit.

The penalty is $2,000
annually times the
number of full-time
employees minus 30.
The penalty is increased
each year by the growth
in insurance premiums.

The penalty is $3,000
annually for each full-
time employee receiving
a tax credit, up to a
maximum of $2,000
times the number of full-
time employees minus
30. The penalty is
increased each year by
the growth in insurance
premiums.



